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Math 102, Calculus I, Spring 2024, Sec. 3 & 13, HTK
Quiz 5, Tue., Apr. 16
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1. Let f(z,9)= yc?)b(9+ ™/2) if (x,y)+# (0,0), and f(0,0)=0.Is f continuous at
22 + 42
(0,0)? Is f differentiable at (0,0)? Explain.
2. Find the equation of the tangent plane to the surface z = g(x? — 2 ™) at

(z,y) = (1,0) given that g(1,1)=4, ¢1(1,1) =5, g2(1,1) =6, and g is differentiable.
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1. Let f(z,y) = yzljg —|-+y? if (z,y) # (0,0), and f(0,0) = 0. Is f continuous at

(0,0)7 Is f differentiable at (0,0)? Explain.

2. Find the equation of the tangent plane to the surface ( + 2y?, 3sin(zy)) at

(z,y) = (0,1) given that ¢(2,0) =7, g1(2,0) =8, g2(2, 0:) i and g is differentiable.
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